2.l 4o,

#23.

36,

138 .

Mot 65 Rl 2912
B 1l Solubioms
g_:%a

¢ (st,3) /¢(s2,6)

C(ll,?)/c(xo':”

Wi('l\ %pdo\‘w’ nerg, R Swws;. b U a "OM ‘ig
24, S, 4th, S¥3, L¥2, Lo & P""""*""m‘d 4

/26 .% .13%

i Hute dice, fuee ot Ll woys b nll &
{146, 1+2+S, ..., 1te¥l + (&)
2+ 1+S , 2+ 2h4, ..., AHSH -« (§)
4 qrd, BF2T3, e, BrAx & (+)
<4+ 1t3, #+2t2, i 312 "l (3)
SHItr, Sr2+l 4 (2)
rlti <« (1)

fr o ?W\I)v)of\)"\) "(. 2\/(} T 21 /51 % .0%%
So ik 15 were pobeble fo Rl g with  fwe
ol Haan wite Huree .

@ Sudspondont : NCRRSUARLY p(€.06)

b) Wl Ddapeudik . pED=F, gl T § e
?LE;"Ez) = %‘
() Not lnﬂb«mﬁd’- PR = ’(-;,: P(ED :21 ’

PLENEL) 0.




701 #8. 6-) ‘/3‘ b) ‘/7' »
C) Tk ’é 12 &S & S:M.’h ¢ | ']Q-R. ost ens 1)L
Fomutabion g e k| mmmj precaclis 2,

Jgnce Tt ?w‘oa\ozu‘n’ s ps (el = A

Ad) This  watass fw.-ﬁwx NPV 7o S P S P are
!'uumwﬁww&u&

al w2, wnowl 12, n owit 2l

pelwm V2, wely w1, w12 wni,
Since.  fwese W v s ok q-«nu“ ﬂﬁu(b] bo appear
Wwoama 4 24 ordes ,  P= G/ = 4.
e) Ty wrtamg 1,1Mv\w«tum4hm
nli ,V\Z\ ‘ - .

P22/ =%
all.  We Me_ oo hul P(BAF) = PEYP(F). T
'P(i?nf:') = P(EVF) 7 A~ plevF) =
1- (o) * PLEY - P(EAFIDY © |- P(E) -P(F) + PLE)P(F)
= P(E) P(F). |

= (1-pe) C1=-PC(F1) =

12 0y Tae volts b Ly yowr eqly b 9F oud s
40 wows 2 (l.wq Yoo . Thus e Yn,\wcuxj we assign
b i losm on &0-29 shyuld e ‘%; Lwes ot \-;,n\,kl,;l,.,‘{y
we  aSSYgn do ] eack e RMALLAAY . YAY oeu_’s.
we Mop e ‘wlmbt(i('l’ as$‘quﬁ L fe obuar cfafs, eunf)

g M ?wb“b:(;tv, 455:5”,&4«» Rb.28, A tneans
33

1° 700 ©
3657 +q° 1
Selwi we ot N ___@2_/ =__ii—-
b P* fagoor |1 THOSE




P23, @) L5 BV 4"
by 1~ C#9)°
i~ (s

¢)
(.s1Y + (.44)°

d)

We wont e MR.A.&Q ?m&a}o“U’(\}

P(EIE)  what €= {{-g-}@[ i sl
B §ob Leash ome SxE

#3%. a)

: = .
Tum P(ENF) = 3¢ (16 or Gt

?(F> = —é% (é-px

PLEIF) = pleaF)d/P(F) = 2/u

by Replae F by F' o § at Reast omt Lvel .

Aﬁcﬁv\ P(F!) = “/% R
S, PEIFD =%u, swme P(eF).

ok PEAED) 25 (245 5+2),




